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QUESTION 1

Which three components can be leveraged when defining a local whitelist or blacklist for antispam on a branch SRX
Series device? (Choose three.) 

A. spam assassin filtering score 

B. sender country 

C. sender IP address 

D. sender domain 

E. sender e-mail address 

Correct Answer: CDE 

 

QUESTION 2

Which feature on the SRX Series device would be processed first for transit traffic? 

A. Zone 

B. NAT 

C. Screens 

D. Security policies 

Correct Answer: C 

 

QUESTION 3

Which two statements are true about AH? (Choose two.) 

A. AH provides data integrity. 

B. AH is identified by IP protocol 50. 

C. AH is identified by IP protocol 51. 

D. AH cannot work in conjunction with ESP 

Correct Answer: AC  

 

QUESTION 4

Click the Exhibit button. 
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Which two statements are true about the output shown in the exhibit? (Choose two) 

A. The IKE protocol has been enabled as a system service for host inbound traffic. 

B. The session displayed represents traffic transiting an IPSec tunnel. 

C. The session displayed represents IPSec control traffic. 

D. A user has configured the self-traffic-policy to allow IKE traffic. 

Correct Answer: AC 

 

QUESTION 5

You are asked to implement a chassis cluster on high-end SRX Series devices. What are two requirements? (Choose
two.) 

A. There can be up to two redundancy groups per chassis cluster. 

B. The chassis models must be the same. 

C. The data plane can use SPC ports. 

D. SPCs must be placed in identical slots in all chassis. 

Correct Answer: BD 
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